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Daily 8 Friday Final # 6 Date: __ - Name:-

1. What is an example of a number that has a square root greater than 8 but less

than 92 . ,
2. Use what you know about square roots to estimate the V87

4. What is the area of this square?

30
cm

5. What is the side length of this square? 361
cm?

é.List all the factors of 100. Use your divisibility rules to help you.

7.If the prime factorization of a number is 3° x 4?x 6, what is the oriainal number?

8. V7225 = . 8=_ . T=_ . -

9. What is the surface area of this shape? Show all your steps

10. Use Pythagoras formula to find the missing side length.
Show all the steps




